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Topic:- Child Development & Pedagogy (CDP)
is associated with retardation in various aspects of development /
ﬁmv%ﬁﬁrﬂmeﬁﬁmﬁgﬁ%l
1. Medium Intelligence / HHH qu?
2. No Intelligence / ﬁ's‘ §@ '_‘133[
3. Higher Intelligence / 3= g@

4. Lower Intelligence / HG gf&

Correct Answer :-

« Lower Intelligence / HG §@

2) In child centred education, what the child has to learn should be / qTd-bfgd JQR’;IT 'l?f, T

D o e T3, 98 AR sien arie:
1. Judged through activities ATfafafaat & Arend ¥
2. Judged by the scores of their test results/3-d URI&T URUMH & 3fpl I

3. Judged according to the ability, interest, capacity and previous experience of the child /S B

T, B, & 3R fUBd 3 Hd & AR
4, Judged according to the previous experience of the child A & U S{JHd & SIIR

Correct Answer :-

« Judged according to the ability, interest, capacity and previous experience of the child Cekdl

i, S, &dT 3R fUsd Sya & SR

3) Child centred education typically involves: / dT¢T Ffad Rrem & emw 9k R =1 =nfre

1. on the spot assessments/JRd T i W) Hlih



2. no Assessmentsm_&‘F H\F\‘TIW EH

3. more summative assessments/31e/d D HeTh

4. more formative assessments /3D ITAATHD Jdih

Correct Answer :-

« more formative assessments /3 TATHD G

4) Which of the following are features of progressive education? / Frafafea o 9 w98

wiforiter Rigm @t fa=wang 82

1. Instructions based solely on prescribed text books A= wad Fyifa urea W TR 3T
g g

2. Flexibility on the topics that the student would like to learn/3-1 fawal o =g (ﬁm
ol BT e 9184 B |

3. Emphasis on lifelong learning and social skills/STta Td=T 3IfATTH 3R IS ST IR TR

Gl

4, Emphasis on scoring good marks in examinations/IRI&T3N H 3w 3P T TR SR Tl

Correct Answer :-

« Emphasis on lifelong learning and social skills/Sha= g+ 3ifATH 3R YrHTTS ST WR SR

=l
5) Performance intelligence is measured by: / UexH §® P %=1 & GRT 91aT STt %:
1. Verbal Ability/ AR &
2. Comprehension / HH
3. Numerical Ability / SHTHD &HT

4. Picture Arrangement / et S

Correct Answer :-

« Picture Arrangement / IBEEICRII

6) "A thing can be learnt by the study of it as a totality" This statement is based on which
learning theory / " Ttol 1 YHUGT & U H 3HF A qd- | JRAT oI IHa1 31" T8
Sy fa Rigror Rigia wr smutfva @:

1. Instrumental conditioning / ﬁﬂm IR
2. Insight Classical conditioning/ 3{def® RRUMRT UHEHeH (3RS FARidd dha I=If+T)




3. Trial and Error/ W-ﬁ% fafy

4. Classical Conditioning/ RRUTAR A Ude (iR e dha=If=T)

Correct Answer :-

« Classical Conditioning/ TeRUTITSd Wb (SiTRichdl dheIRI-1T)

7) The word ‘consistency’ is associated with: / qTeg “TTHRY” W@' et %:
1. Personality / Hfaad

2. Attitude / TG

3. Intelligence / g@

4. Motivation / TR

Correct Answer :-

« Personality / fadd

8) The prejudice against a person on the basis of sex of that person is ./ TP fed &

oI ¥ YR W, 39 aufed & f&ere yafug (varrd) gar gl
1. Gender stereotype / AP TlgaGdl (WX WIRkdlergy)

2. Gender bias / TRT®H VEHTT (S8R T1534)

3. Gender identity / QiR Uga (TSR TS SSc)

4. Gender issue / QifTe TET (SR H&)

Correct Answer :-

« Gender bias / e et (@?R CIERES)!

9) The smallest bone i.e. stapes in the human body is in the ear. /ATd IRR A a9

AT AN RASHAP Bt I
1. Inner/C’riET
2. Middle / ¥ H

3. None of these / E:I'Ef q aﬁé ﬁ

4. External / dlg¥

Correct Answer :-

« Middle / S &



10) The last stage of psychosocial development is / AN faPTa &1 Sifaw =Ror % -
1. Identity v/s. Confusion / UgdId d-1H YH
2. Trust v/s. Mistrust / [d%T §H Sifdyr

3. Generativity v/s. Stagnation / 3GIRdl d-1H dgrId

4. Integrity v/s. Despair / &S dl IHH fARTRM

Correct Answer :-

« Integrity v/s. Despair / 3RGSdl §HTH R

11) The study of same children over a period of time is known as study. / U

ﬁruﬂ%awaﬁ@%ﬁqwaaﬁ%arwaﬁ YT F U H ST
ST g |

1. Longitudinal / &Ia%?ﬁ GIRIEEE)

2. Cross-sectional / yfaferds (w"m @W)
3. Latitudinal / ST (m)

4. Experimental / PIBIIRED

Correct Answer :-

« Longitudinal / S‘H%Ef (Flu'l:l'ﬂaa@_v-lﬁ)

12) Which of the following is a limitation of Eclectic counselling approach? / frafafead a

o1-H TeurRiia Rt eRe i gwiffes safi i) $1 @ e

1. requires highly skilled counselors to handle the dynamic feature of this counselling approach /

S IR VDI &1 TS (AR &1 A B & o srafdies SR mm=ierarsit
B AT HdT Bl |

2. more flexible approach of counselling / TR BT 3HfH ﬁ%‘iﬂw PP
3. more cost effective & practical approach / 3AfIH THTAT 3R AT PHI0T

4. more objective & coordinated approach of counselling / R & 3% A& 3R gafad

Correct Answer :-

« requires highly skilled counselors to handle the dynamic feature of this counselling approach /

= IR VB D1 TATHS AR o1 i & & o sraftie $=d WRigrdarsi
B AT BT Bl |



13) Which of the following is the best way the teacher can guide children with special needs

in school education? / ﬁqﬁﬁaﬁﬁﬁq—waﬂm%ﬁv\ﬂﬁam&w ﬁmmﬁﬁr&n i |
faRiv sravgwarsi ard g=il 1 AnfeRiA B 9Hd &2

1. Give higher challenging tasks / 3HfeH ﬂ:ﬁ?ﬂ'@fmﬁ
2. Give more tests / 3T TRIE0T ¢T

3. Providing support and tips / {-I‘é'q\l‘l 3R d<dld ol

4. Provide more homework /31® TG UGH HRAT

Correct Answer :-

« Providing support and tips / FETﬁT[ 3R g<id o

14) Which of the following is an example of a lower order need in Maslow’ hierarchy of

needs? / FAfIfEd o & &1 91 TRl @t SraRgHarei & UerIHd | HHaw wu ot
TITISH AT BT T GG 57

1. Esteem needs / T P STaRIHATT
2. Self-actualization needs / 3TH-SNY DY XGPS EILY

3. Safety needs / GR&T 1 HTIIHATY
4. Love and belongingness needs / ®IR Td 3T DI HARIGHATY

Correct Answer :-

« Safety needs / gR&T i 3TIGH Y

15) Which among the following types of intelligence would be most used when trying to

navigate through traffic? / mﬁﬁmmﬁﬂ'@ﬁw, YTATITd & HIEAH
H AfdiIe B B DR Ha T9g farar s

1. Naturalistic intelligence / Q'I?fﬁlﬁ[?ﬂ §@
2. Spatial intelligence / LB @@
3. Interpersonal intelligence / fadafaas g@

4. Emotional intelligence / HIdIIH® @@

Correct Answer :-

« Spatial intelligence / R @@

16) A child receives a star for every correct answer she gets. What reinforcement schedule is

being used? / T F=it B X el SR & T Uep R firaar 8 | fva gedioror srgat
BT YN foHaT S 7T 82



1. Variable ratio reinforcement schedule / R S{UId ‘{;J,EG‘\IOTNUI W
2. Intermittent reinforcement schedule / TaRTA® WUT G‘IW

3. Partial reinforcement schedule / 3{ifRT WUT HW
4. Fixed ratio reinforcement schedule / 3T SUTd GEdIHR0T gl

Correct Answer :-

. Fixed ratio reinforcement schedule / F3d S{UId g%a‘ﬂw W

17) One of the characteristic features of a Constructivist unit of study is that: / €I 4|

TS TAATHGAAIG SPIS @1 U fa2yar 98 § f&:

1. It starts with what children know as an effective departure point for the lessons. IExscal R[> 3T

3 Bt B b o= e & forw wep wvrdlt o feig & w0 @ o §

2. Tests and assignments are aimed only at assessing the lower order thinking skills. / SIE) (é@
Iy hY Y Y S EN N
3R FTd SR (3RIZTHT) BT I Had (Y TG Tra HIRA BT MHa- BT 8T g |

3. It is propagated solely through teacher instruction. /dg tl;Uhi e & Mo & Areaa o
EEIRSACRIICIGI

4. Asking questions is discouraged in the learning process. / U4 Y1 SHfTH &t Ufcbar &
gdlclod PRl 5|

Correct Answer :-

« It starts with what children know as an effective departure point for the lessons. IERED R[> 31
2O Bt & f 5= Ut & fore uep uuTdt g foig & 0 o1 SFd ] |

18) Reading skills can be best developed by: / U6 DI B e bl GRT 99 331
e faw i foar s awar &:

1. Writing answers / 3R [eRa1

2. Playing word games /doing quizzes / TS 1 W/ fdd S

3. Focusing on the use of words in the text / UId T Yeql o IUTNT IR &M dbigd HRAT

4. Doing vocabulary exercises / RICACRIRES TS|

Correct Answer :-

« Focusing on the use of words in the text / UTd T Teal & STINT IR & diod BT

19) Irrespective of the kind of impairment, all children are capable of: / o<t ypR @t

UYAr & dravig, I v g ¥ gem g §:
1. Movement / E|F‘Ie[



2. Hearing / “v:ﬁef
3. Learning / ESiRGE ]

4. Seeing / o

Correct Answer :-

« Learning / e

20) What are inborn patterns of behavior that are biologically determined also called? /

HGER F T=TeITd e i) sfia-Rsm ¥ ogar FufRa 819 € 32 ug W w1 wmar 2:
1.1d / Ugdd

2. Drives / §Igd

3. Instincts / Il T4

4. Intelligence / g@?ﬁ-ﬂ

Correct Answer :-

o Instincts / doul AT

21) What are the symptoms of Post- traumatic stress disorder in children? /a=i # uy-

JTETd a9 fIPR (N crifed wd fEasiidy) & e w32

1. Avoiding places or people associated with the event./ Yl | \_{],@ I g1 AT Y ST

2. Having to think about or say something over and over. / §R-dR &S He- T 39H IR H

e

3. Not have an interest in other people at all. / ¢ g I%Ic@ﬂ SSEEKE]

4, Becoming annoyed with others./ §FR.|' AR BT

Correct Answer :-

 Avoiding places or people associated with the event./ Yl | @% Y] 1 AT §9T

22) What type of theory is one that proposes that development depends on things that are
inherited through genes? / {7 UHR &1 Rigid a8 WRgd Frar 8 & e T el w®
R owar 8 o 59 & ATers | 93T B2

1. A deterministic theory / U fAgfdare Rigid

2. A social theory / Udh T Rigid

3. A nature theory / U UTdhidd Rigid




4. A nurture theory / Teh UTA-UINUT Rigid

Correct Answer :-

+ A nature theory / WW Rigid

23) What type of thinking is associated with creativity? / fog yoR o1 fia '\‘!\_ﬂ:l?ﬂ?l?ﬂ g
Heiftra ghar g2

1. Convergent thinking / SR A

2. Divergent thinking / 3{¢{iT -

3. Insightful thinking /3D T (ZTARCHd fAfHT)

4, Transductive thinking / gRAT % T (;iﬂsf&cq fil'm

Correct Answer :-

« Divergent thinking / 3¢ g

24) Who introduced the theory of Universal Grammar in language development?/ HTHT

fawra & gfadda IR & Risia o feam o= fear
1. Piaget / oS

2. Vygotsky / ATZTTcqeh!

3. Skinner / RHR

4. Chomsky / TATRIeD]

Correct Answer :-

« Chomsky / ATRIDI

25) Intelligence is a product of both and environment./ Q@Tﬁﬂ, 3R

TTaRUT SIFl T TP SIS 2|
1. Culture/m

2. Community / HHalJ
3. Heredity/ W&IWT

4, Society / JHII

Correct Answer :-

« Heredity/ 3{TdfRIbdT



26) The Minnesota Paper Form Board test is a test which measures one’s

/et w918 v, te whiem e S feft St S Amarg)
1. Verbal Reasoning/ A& ddh

2. Aptitude/ TTAT

3. Personality/ Sfacd

4. English Skills / 30l ®1er@

Correct Answer :-

. Aptitude/ TGdT

27) A student is asked to find different methods to evaluate the value of pi. This would mainly
involve which of the following operations? / Udh ST Ca Tﬁﬁ-l'lg & HH BT WW%
fore fafirs yorrelt 1 99 HA & fore weT wTaT 31 59 g1 w U O Fafafaa A @ wa
T TR A F?

1. Evaluation / HedTeh1

2. Convergent thinking / SR
3. Divergent thinking / JOORT fidq

4, Learning / HfERTH

Correct Answer :-

« Divergent thinking / 3OO} fiad

28) Classical conditioning was developed by: | FATRIP A P [T (ﬁ?ﬂﬁ@ﬁ
WG a1 IR 3rgaeH) 5 3 9 foras g1 faw g fear man g:

1. Bandura /E\IJ'UE'RT
2. Pavlov / UTddId

3. Kohler/a'ﬂ—b'a?
4, Piaget / oot

Correct Answer :-

« Pavlov/ qrgdid

29) Selecting specific stimuli through sensation is a characteristic of: / TdeAT & ATeAH |
fafRry IEIu= &1 Iu= FA F1 Afaeor 8:

1. Attention / 3{dYTH



2. Critical thinking / 7T IEGE
3. Concept / SIAYURT

4, Perception /Eh‘il

Correct Answer :-

+ Perception /Eﬁ‘ﬂ

30) Animism is the belief that everything that exists has some kind of consciousness. Which of
the following does not describe the idea of Animism in children at the pre-operational stage of

development? / TdfaTaTe Ug fayr 8 fp < $o ot Mvig ® SUH ol v ot Ia=n

2| Fafafea 9 ¥« o & gd-ufarea R w® 9=t # gaterare & faar &1 qufe

el Hear 82

1. A child who hurts his leg while colliding against a chair will happily smack the ‘naughty chair’./
UH ST o1l Uh I 4 ThRId U U TR P A UgdTdl ¢, G ¥ TRR Hol Dl Ybd
& |

2. A child dresses up as ‘fireman’ for a fancy-dress competition / Bt 3? PIRRIRGIED %I'Q Udh
S BRRAT & ¥Y H IR glaT 3 |

3. A high mountain will be thought of as ‘old”/ T% $d Uad P! "GRIT HHT S|

4. A car which won’t start will be described as being ‘tired’ or ‘ill’/ TYdb X ISE] RICS) qﬁﬁ?_cﬂ
WTG@‘WEW‘ 7 §H R CRIRIRSILEUIN

Correct Answer :-

« A child dresses up as ‘fireman’ for a fancy-dress competition / it @QF g & foe Uh
EN .
oI BHRREE & %0 § IR giaT g |

Topic:- General Sanskrit(L1GS)

Y afa T sIEg W & ?

ECI
| #ard |



Correct Answer :-

43—]'@?{‘\’T|

Correct Answer :-

? ave e & fasfad: agsad 2
1. Tqeft |

e |

_ eiadrar |

, T |

Correct Answer :

.ar_—:rzﬁl



) . .
" ForAeeeEy qferssl 9 ug foha ?

Rro i

R |

SCHIUT: |
1.

ﬂ?jg—zn; |
, N
; FAIT: |
. qocdl: |

6) c :
MASITT SAET TAHAGIRRY Teha ?
IMSd |

1, Mo




 30TeSd |
oI |
4L“|

Correct Answer :-

.ﬂﬁ;ﬁl

” forg aral: Fear veId w9 A 2
| fer@faear |

_ fofgcar |

| oEfdcdT |

| AT |

Correct Answer :-

- ergear |

? eTeTdl: olie-H-qRy-agadeTay fohe ?
e |
3787 |
1.
38T |

38|



Hdoed |
. Mo

4

Correct Answer :-
HG ::-aﬂ |

10)

HETEaTHT 3fd Ueqd He®u fohd ?

HGIREAHA |

1.

: HEEAI AT |
HAEIETH: |

3.
HAGETHA |

4

Correct Answer :-



1

ArefriRGacsTA |
) \ H
NEFENCEICTE
3.

Aréfehaicet# |

4

Correct Answer :-

SEN

3.
4,
Correct Answer :-

BGEN



3rsecer sfa s eaad |
| 3TSET |
 3TSCTe |

| GaTST |

CSCaUT: |
4,

Correct Answer :-

RO’ ScUET UIe] e g for@d |

UYL

1

2$3TT3*TUT3-TE[5T3-T:I

SO BB SR S A

3
P’ LUHIF L 30
4.
Correct Answer :-
P A IULHYF I 3

15)

D
"~

010'I°h{|013 [ onl

. STATIdr |



_ SITHIAT |
| SITeTehT |

, SfeTel |

Correct Answer :-

| SITeTehT |

q%ﬁiHH5;|
3. N o

JoAdAT |
4,

Correct Answer :-

ge[AT HE: |
. o o

7 eeR sfd I&IT Uec: fo@d |
BCCUECIBEARECUNCE
 gfafRGaweRRRE |

 GTRIGTIRICIERIRIGH |



G HENHMPEINANGE I
4, ™~ =
Correct Answer :-

CaTTARIG [UehTSCIGRIATH |

aed |
& |

2.

3 7 |

QdIaRT |
PN

Correct Answer :-

e |

, B
HITA |
3. ¢

4,
Correct Answer :-

SdT |



1. S
faeger: |
2

) faegrerar |
) [ECRIEICEN

Correct Answer :-

2 ﬁ:ﬂu—q:u ST Ucad: oh: ?

AMAT |

1

e |

2

3Er_dll

gy |
4. oy

Correct Answer :-

) - L
olg Iy ™ad |
o) e |

22




U A gl Teil sad: |
U AN Gal Tall Haa: |
TS A Ggl vall sa: |
_ UEA A gfd gail sad: |

Correct Answer :-

 USHEAA A gdl el #1ad: |



SCcd: |

3. 2

RMAcd: |
. N |

4

Correct Answer :-

4. S

Correct Answer :-



Correct Answer :-

3TEA |

? PIsgHA, AT AleuTaese Fed |
ol + GH |
1.

2$:+313?[I
3$:+6?:[I
Pl + 31EH |
4,

Correct Answer :-



3.
2 2 *~|
4,

Correct Answer :-

ARt TSHATE HiEAT Fat Tedd |

1 d{'lrdﬂ?,(‘ﬁ |
i?”‘\’ﬂsﬁf‘” |
2

5 %Hrd‘%(‘ﬁ |

4ﬁwaﬂl

Correct Answer :-

. %Hrd-’h(‘ﬁ |

Topic:- General Hindi(L2GH)

1) fpeft ot g% SMTUGT B WIGHT 1 g8 & FRUT & TR A S TH YHR HT ATATY! HYAT T H-HRB
AANfIPR i1 8, IH BT HT HEd 81 HIY gW b DRV W YT ST & T M1pat a1 8 SR W Iqat
Ugd 4 9T6% 81 & | 1Y g & SR & Weualy & 37 78 gian | afe g o1 SRor A9 g iR a1
HHET ST 6 IHA SH-g3P §& Ugandn ¢, avft iy g R 49 & e R 31 fAfde g s
T8Y; 3AT R AT BT Afee b g an w1f ugah | A i saifondt ot AR @ w8 % wa gl 719
UTq ge AR dt S HIY T T, 4y ghIM| IR S A e g GERT MR Fe 1 Fdl AgP-3IqP TR
FTY-WR d1$ 3" ot 98 T AR} TEADR Do 1P P ¢ §TY-UX dgAaTel? 3@ M|



WY $T1 favg g Ul # AHA SMTdT 8§ - 318 U | iR 91y U |1 e’ fawy 93 § forapt f=dt vae
ERT AT 3y 81 a1 RIS Tue US| a1 fawd a8 8 oY vae gIRT gR fhan ar IRar &1 aehar gt &t
I T LTS} A4 ¥ B 93 a1 311+ig | aradid $3a 9 o1 3@ A1 3a4 & A 2R B G818 GrE vl
gfg 3 1 Ied UMM, F5TA a1 U W e 31 &1 uaed & ot 99 GPa 3 | favy & Irey a1 3rqmey g9 ot
Yo IRFRUf Ft faiwar & SR i 8l 1 8 W 950 $© 7™ 3t Upfa W i saeifad W@t g1 |/ &
PRI BT I 811 W ITPT SAfartar &1 e =it faa=rar ar siemar 3t srgyfa & srRu gar g1 afe gag
FYfa HiETFal SR MUl Bt g FA B AAIRT IT AT & U F HRUT gelt 8, df A7 T gt
ST 8 3R 3P B1Y-UTT A8} e e Phd | R F$ e &7 a1 Tredt et ugd o sied) svar 7} iR swar oft
2 @ JYT B U U9 & IANT A T 14T 8| YA Fd IGHUTIE 81 oATdl 8 99 BraRar a1 fiwdr sgarar g
3R T S AT STeT B, faRiva: gl # 1 &) @Y ofiwar 9t 39t dven & g 8 RIS & aARe B
¥ & 21 goul #t +fiwar B gt Figr @ 81 TuT 9 usar @ 6 9gd M S @ gHul A 7 S99 61 BT
A TRan g1 Wear & SO Sraudl | ST WeH Pt AaRgHdT 3R - faa BT SfIRar we g1 g B
IRAT B3 A URH BT T a8t gian @ 6 urmaren ImdiiRe diet 78t we wwar auft sroeht wifda & grr
I HIeT A 30 T o1 faxar 1Y T@an| g ot 9gd W Tre 3t fiwar g5 | s & 3R e Rl o
it sfrwar fears A<t 21 srfer™ & v A 959 A s} Fi-waft falt faty soama o g14 18 STe, W
T ¥ 4T | 954 9 UfSd Fi-w i e / g R E

ST TR B UG -9 U T Uy BT ITR ga133:
;U BT v foraet o & e i 32
1.dR

2.3

3.THh
4.+

Correct Answer :-

2) Tt STt g3 SITUGT BT TG UT §W & PRI & AIHTHR A Ol T TSR BT ATATY0! YT TY-FRD
TSR BT 8, S 1 YT Hgd 8| HIY g & HRUT TR YUTT STA1 & AT THa T 8 iR ¥F IqD!
Ugd 9 918% g1 & FIT| $1y g8 & SR & WE Uy F {91 781 g1 afe g &1 $R1 A9 g1 3R T8
[T S {6 IHA SH-gg? g@ Ugardn ¢, I By g1 R 49 & forg sror &1 fAfdse g s
TEY; ST HR AIGH g1 1fe¢ b g a1 g1fy ug et afe i saifondt fveft sfar @ # & a1 olk T1Y-
Uiq ge A dY S HIY T TY; YT EHIN| TR 341 A fe DI goRT 3T Pe % Pl -3 P Tl
FIY-IR A1 S < 98 qd AR} IAdBR B & "B § 1Y-0R digara? ¢ i

Y &1 fawg 3 =l § [ 16T § - SR FU H SR Wrem U #| ey fawy 9% 3 Ry et wae
ERT FaRYT 3rivT §1 a1 RIS Tue US| OTed fawd a5 8 o vaeT gIRT gR f3ar ar IaRar & aehar gt &t
I U TRIS] 7l & fPAR 33 91 3(+ig | STaiid &d Ia o 3¢ A1 a1 § o 2R B 818 AT U |
gfe I ISP YR, F5UA T1 U8 R Ie 3Nfe &1 Yu HL ) 99 Gobd € | favy & Iqre a1 3rqmed 819 $t
Yo IRTRUFY F} faiwear & SR i gt €1 8 W 950 $© 7™ 3t Upfa W+t saefad et 31 | &
PO BT JH 811 W 3! fardar &1 fA=ag sro=it faa=mar ar siemar 9t sgyfa & SR gar 81 afe a8
SgYfa w3l SR MUl Ft gr FA & AT 91 WIgH & UTT P BRI gidl 8, df TS Wi gt
7T & 3R IS9P BTY-UTq 1] fee 9 | IR Be fee P71 a1 Ared el ugd o) Sied! S3dT a1 3R S¥dr Ht
2 @ JUA B TR TG b AT A A 14T 8 | YA 9 WU 81 o1l @ 99 SRl a1 Wiear sgarmar 8
3R T S AT et B, faRiva: gl # )1 &l @) ofiwar 9t 39t dven & g 8 RIS & gk B
5 78 21 goul 3t fvar Y o gt 1 81 ¥ o usar 2 6 959 A oA A T A 7 539 BT ST
A a8 1 el & WA 3audl | 7% Gg Bt Araadhdr SR 0=t qfad &1 ifazara uu= 81 ;g &1
AT HIA F URF B U3 g8t giat @ % yrmarar Iifve et 78t we Joar asht st wifda & grr
I HIST A Uit Y& o1 faxara 1Y TTan| 98 ot 959 W ard 3t fiwar g5 | s & oY e\ Rl o
it Wfiwar foars 3 B1 erferf & va & 9ga A o) Fit-waft fHdt faiw suawma g1y =6 sTerd, W
TR & Y9 A 959 ¥ ufSa F-Hf wRard @ 4 R B



IUYFT TR BT U -1 IO T YY BT IR Id133:

U SR $1 faw & & fea# g1 Ui Q9 91471 5iran 82
1. i

2. U3l |

3. g3ul |

4. gferai |

Correct Answer :-

.

3) ot aTelt g SMTUeT F1 UG IT g & PRUT & AIHTHR A Ol T YHR BT ATARTY0] YT TY-FRD
TSR BT 8, S 1 YT Hgd 8| 1Y g & HRUT TR YUTT STA1 & AT THa T 8 iR YT IqDt
UEd 9 18R 11 & FIT| $1Y g8 & SR & WE Uy & {91 781 g1 i g& &1 $RO1 G g1 3R T8
HHET ST 6 IHA -9 g& Ugandn ¢, avft iy g R 49 & e R 31 fAfde g s
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PRE AAIABR BT 3, U B YT Hgd ¢ | 1Y & & PRUI IR YU ST F T 3MFpa Ha1 7 3R ua
ITP UG | 916X 11 & fAU | 1Y g8 & SR & WEuary & fomr 981 granl afe g& &1 $Ror Aa+ ghm
3R g Tu W % IR FAH-gIB gd ugardn g, aft sy g R v F e srur a1 fAfdse e
SR AEY; FAAT YR AW BT 91T % g ar g1 ugaht gl #s saifadt il Tar ¥ #2 5 rwa
TR F1Y-UTd ge S ot 3 BN 7 JATT; + ETT 1 WR I / RS FE g1 SR F8 & ot -
3P TN TTY-IR s I A 98 T AN} TEad F 6 P14 § §1Y-IR digard? 3@ Fmi

Yg HT faug & U & YTHA 3T 8 - 3R 9 § 3R J1e7 7y H| 3Ry favy a8 g forge 5 vae
ERT faRor sy 8) a1 SRIYT Tue US| T fawa ag @ Wi waeT §RT g} fhan ar YR o Ahan 811 |t
I U URTE] 7l & fPAR 83 91 3(+ig | TTaiid #3d 9a ST 3¢ A1 a1 A o 2R B 818 AT UL |
gfe 3 S 5P YR, 5T I1 U R Ie 3N &1 Yue &L ) 99 Gobd € | favy & Iqre a1 3rqed 819 $t
YR IR 3t faivan & SR dt 81l 81 ¢ IR 95d $© 7™ $1 UPpfd W i raeifad |l g1 /WP
PRI FT I g1 W 3P Afariar &1 e =it faa=ran an siemar 3t 3gyfa & sRurgar g1 afe 9
SgYfa w3l SR MUl Ft gR FA & SFWRT 91 AIeH & UTT P BT gl 8, O TS Wi gt
STdT & 3R 39S B1Y-UTq T8} e e Ipd | R $S e &1 a1 qredl et ugd df Sied) S¥ar &) 3R Sar oft
8 @ FY B YA UG & IANT A T 1T 81 WG d WU 81 STl § 99 S1aRar a1 w1 sgarar g
3R T S AT e 7, faRiva: gl #)1 &l @t fivar 9t S99t dven & quE 8§ RS & TR B
5 8 81 goul 3t v Y o g 1 81 ¥ o usar @ 6 989 M oW A G A 7 $39 BT ST
A a1 81 edl & Haied 3aadl | 7RI Tg Bt ATaadhdr SR -t qfad &1 fazara uu= 1 ;g &1
HIHAT HI A UM 7 g 98} Ear @ 7 yrmarar e der 7€) we goar a+ht et wifey & grr
I FIST A 30+t Y& o1 faxar 1) T@an| 98 dt 959 W ard 3t fiwar g5 | s & oY eM® ARl o
it Wfiwar fezars 3 31 erferf & va & sga A o) Faft-waft fHdt faiw suawma A g1y =8 sTerd, W
T & U A 9gd A ufSd Ff-w i e @ g R B

ITR TR B UG 1 ID T UY o1 37 Ja1sd:
TH: HIY g9 & SR P food ey & fo=r 181 gian 2
1. Afde ey

2. Afd® gaA

3. faen-gfs

4, WEUY

Correct Answer :-

. WY

12) &t et g5 SMTUGT B WIEAHT A1 @ & FRUT & HIATHR | & TP YHR BT STRTYYT HYaT FiH-
PR TAMIPR AT 7, I B U Hgd ¢ | 1Y §& & PRI W YU STA & T 3MTHa Ha1 § iR g
ITB! Ugd T 916X 811 & FAT1 1Y gW & SR & WEUAY & {371 781 giaT1 aie g BT $ROT A1 g
3R g T G {6 I FAF-gB g@ Ugardn g, At wiy g R v F g wrur a1 fAfdse g
SR AEY; FAT WR AT BT O1feT % g an g ugaht gl e saifadt il Tar @ #2 fF rwa
TR §TY-UT g€ S 6t I/ By T MG, 7 811 TR St & I} B g s o8 & et orge-
3F FFER FTY-IR i I Y 98 T R} TEadR R 6 P14 & F1Y-IR digard? 3@ i

Yg &7 fawg 3 U & YTHA 31T 8 - 31 U § 3R J1ed 7y H| 3rRyreA fawy a8 3 e f6d was
ERT fFaRor sriva §) a1 SRIYT Iue US| AT fawa ag @ it waeT g1 g} foman ar YA o Aahdn g1l &t
I T LTS} 4} ¥ B 93 a1 3ir+ig | aradid $3a 99 o1 32 A1 3a9 A A 2R B gg1s GArE vl
gfe 3 S 3P UFM, 5T I1 U5 R IeA 3N1fS &1 U &L ) 99 Gobd ¢ | favg & Iqre a1 /e 819 9t
YR IRTRUFY 1 fa=iwa & SaR @t gl 81 @ IR 950 $© A7 & Uopfa W i sraafad el 81 |/ &
PR BT I 11 R ITB! ifrardar &1 e o=t faa=rar ar siermar @1 syfa & $RUT gl 31 9l a8
gYyfa HiETzat iR Smuftrl Bt g H F SFRT I1 AT & T F HRUT gelt 8, df A7 wifda gt
ST 8 3R ISP B1Y-UTd 81 e TP | R $S fod &1 a1 Arewd! 3net ugd oY siedt ST -1g} 3R s2ar oft



SR WY Gy A= o1t B, faiva: geul /)1 Rl &t Wiedar af It dwslr & T 8t RSl & 7S Bt
5 78 81 goul 1 fear Y o g et 81 ¥ o usar @ 6 989 A oA A G A 7 839 BT 3BT
A TR 31 Wear & waee Sraudl B 7T WeA Pt SraRaddr 3R - =fadT BT Sifavara w81 g B
AT B A YT &7 R 7 gar § f6 wrmaren IdiR® der 7€) T a@ar aft e i & grr
I HIST A S0+t Y& o1 faxar 1) T@an| 98 dt 9gd W ard ot iwar g5 | s & SR e\® ARl o
it Wfiwar fears 3 B1 ereferf & va & 9ga A ot Fit-wafht fHft faRiw suawma A g1y =8 sTerd, W
T & YT A 959 @ ufSa Fi-s 1 et A 45 e B

IUYe TRIRT B UGH 19 IR 7T Uy HT IR 9d133:

U=: foredt SauR o 9gd & SRl fed v | g1y 181 STerd?
1. 3gI

2. SFTETH

3. YfierH
4, HHTRTH

Correct Answer :-

. 3igIH

13) ot orelt g8 SMUST St YIEHT 91 G & BRI & ATHR I &l T YHR BT TGN 3l WdU-
PRE TAIAPR BT §, S B UT Hgd 8| 1Y g& & HRUI IR YU STA- & T THd e § 3R wa
IAB! Ugd I 916X 811 & U1 1Y gW & $RUT & WEYAY & {971 781 giaTl aie g BT SR da-T g
3R gg T QN 6 I FH-gHx gd Ugardn g, 3t wie g R v F g srur a1 fAfdse g
TR AEY; FAT WR AIH BT 91feT % g an g gt gl e saifadt il Tar @ #2 fF rwa
TR 1Y-UTd g AR A I/ Y 7 SATG; 4 R R I | A B gt o #2  vova srg-
3P JFER FTY-IR g I Y I8 T R} TEadR FR 6 P14 & F1Y-IR digard? 3@ i

Y &7 fawg 3 =l § [0 14T 8 - ST FU H SR Wi ¥ #| ey fawy 9% 3 Ry fht wae
ERT AT SrEva 81 a1 3RiYT Tu US| 91 fawd a8 8 oY vaeT gIRT o) fhan ar IaRar &1 ear gt &
IS T TS} 74} ¥ fH1Y 93 a1 311vig | aradid $3a 9« o1 3@ A1 3a9 & I 2R B G818 GArE vl
Ife 3 g1 IoBY U, 5T 91 U IR ge- e &1 Uaet &8 df 99 GFd ¢ | Favy & aren a1 s/aeg g9 ot
YRoN URFRYTT F1 faRiyar & SaR i it §t § IR 950 $© 999 &1 Ufd W W sacfod wdt g1 /i F
PRI BT I 811 W 3P Sfardar &1 e o=t faa=rar ar siemar 3t srgyfa & srRu gt g1 afe g
FYfa HiEATzat iR Uil Bt g HA B FAWURT IT AT & UTT F HRUT gelt 8, df A7 wifda gt
AT 8 3R SUF grY-Uia 81 Re A | IR w3 faat o1 a1 wredt sneh vgd oY et svar = ofk swar oft
2 @ FUA B YA TG b SN H A AT 8 | Y9 TS WU g1 ol @ 99 SRl a1 Wear sgarar @
3R U Sy |77 e 8, fave: gol §| Kt @Y Jfisar @ 399t dven & JuE § R & 7R
a5 8 21 goul 1 v Y ¢ g et 81 891 oI usar @ 6 989 A WA A g1 A 7 539 BT 3BT
A TR g1 Wear & Haee Sraudl | =T WeH Pt SaRgddr 3R S+ fa BT SifaRara w81 g o1
AT B ¥ HRH &7 AT 98 gia € fop urmearar I et 78 we awar @t oot wife & g
I FisT A 30t T o1 faar 1Y T@an| g ot 9gd W Tre @t fiwar g5 1 shaq & 3R e Ry o
WY ofiwar foams 3t 31 erferf & v @ aga @ amurdt Haft- sl [l faRiy saaama & g1y 8 ST, R
TR ¥ YT A 9gd A Ufea st sard A dg /R #

SR T B USHR -1 I T Uy BT S<R qa133:

URA: Fg fed &1 a1 et el g 9t 7T 81 Hean
1. SA1 eI ©

2. @A 81 §

3. ST 81 ©



4. dSdITe @
Correct Answer :-

. SRATTER

14) T ot g5 SMUST Bt UIGHT A1 G& & BRI & AIHTHR I &l TP YHR BT TGN 3l FdH-
PRE TAIAPR AT §, S B UT Hgd 3 | HIY g& & HRUI IR YUTT STA & T THd e § R ¥a
IAB! Ugd I 916X 11 & U1 1Y g8 & SR & WEUAY & 971 781 giaTl afe g BT SR da= g
3R gg U WG {6 I FH-gIH g@ Ugardn g, aft w1 gl iR wa F g sror &1 fAfdse g
SISt A8 gaHT WR UIH {141 Tt % g ar gif g afe s waifad fadt War @+ 7 vwa
TR FTY-UTq ge SR 6t IV HIY T MG, 3 TH1T1 OR ST | I FIE g 3w o2 & e org-
AP TN TTY-N s " Y 98 TR AN TEaHR Sl F "B § g1Y-WR drg-ara? 3a i

Y &7 fawg 3 =l T JTHA 3141 8 - SR FU H SR Wi ¥ #| ey fawy 98 3 e feht wae
ERT AT SrvE 81 a1 RIS Tus US| 91 fawd a8 8 oY vae gIRT g} fhan ar IRar &1 aear gt &t
I T LTS} 741 ¥ fH1Y 93 a1 31r+ig | aradid $3a 9« o1 3@ A1 3a9 & A 2R B <818 e vl
gfg 3 1 Ieb UMM, FSTA a1 U W ge 31 &1 Uae & ot 99 TPa 8 | Favy & qrey ar 3rqmey g9 $t
Yo URFRUF Ft faiwar & SR i gielt §1 8 W 950 $© 7™ 3t Upfa W i saeifad Wt 31 | &
PRI BT I 811 W ITPT SAfartar &1 e o=t faa=rar ar sremar 3t sgyfa & srRugar g1 afe ag
FYfa HiETEal iR MUl Bt gr HA B AIRT I1 AT & U F HRUT gelt 8, df A7 & gt
1A 8 3R 3P B1Y-UTd 781 i3 TP | R $S fod &1 a1 wre< et ugd af et sar -7g} 3R s2ar oft
2 A JYT B YA TUTT & IANT A T 14T 8 | YA T IGHUTIE 81 SATal 8 99 SraRar a1 w1 sgarar g
3R T S AT STeT B, faRiva: gt # 1 &) @Y ofiwar 9t 399t dven & g 8 RIS & gARe B
g W6 21 g3 oY +fiear Y o e 1 1 ¥ o v @ P 989 A 9 @ goE) A 7 899 o1 3@T
A TRan g1 Wear & GO Sraudl H %1 WeH Pt AaRgHdT 3R - faT BT SifIzar we g1 g B
AT HI A URF o1 v g8 giar @ % wrmarar e dret 7Y we Ioar asht srot wifda & grr
I WeT A St Y& &1 fazary 1) T@ar| g5 df 9gd R ara 3t ofiwar §351 Sias & ok eme amuRt §
it sfear fears A<t 21 srfer™ & v A 959 A s} Fi-waft ft faty soama o 514 18 STee, R
T ¥ 4T | 9gd 9 UfSd F-w i e / g R B

IR T B UGHR 1 I T U BT SR qa1sd:

%gmmﬁamﬁmmw%W%m&mﬁﬂagqmﬁmaﬁw

1. 99
2. Y4
3. 98
439

Correct Answer :-

15) U qroft S w4 BT U W |
3R Y =fie #v, 3mug Aaa g |

o9 § 41 79 g 1Y, 3@ 58 8 H AR |
T ARt fire war, §iue @1 AT ||

IUYa TR &1 Ugh - Y& T UY BT IR 9d153:



- 3R 1 idad S T A G 2
1. 3RI ®I 1 g T

2. 3R 1 ot wrifay iy

3. RI & it go

4, IR BT 1 5@ ol

Correct Answer :-
. 3R B ot wifa i

16) U qTvft SfQ 79 BT STAT G |
3R &Y e #, 3mug faa 8|

o9 & o1 a9 g3t AT, 9@ g6t ¥ A e
Tq AT fire Tan, iue @ ArEh ||

IUYed TEIi &1 Ugh? ) YD T Uy BT IR 9153
- AT BT 3ATYT G A ggT aredd § -

1. {7 @ AT

2. T BT HAR Bl AT

3. Bd-g7 B ST

4. faafaa g o

Correct Answer :-

o TA-TY Bl ST

17) O qroft S w9 &1 STuT WY |
3R B! aa =, MUg Maa 8|

oTa § T a9 g3 ATEY, 3 58 8§ A A |
T IRART fire war, fius @A |

ST TN P UgHR A UD T U PT IR qa133:
U= - YR Ufeaar & 82

1. Siddr

2.Uq

3.418

4, dlch

Correct Answer :-



18) U} qrvft Sifere wa &1 U W |
3R P ftaa #v, g Haa gy |

o9 § A1 79 g Y, 36 58 8 H AR |
9 ARt fire war, §iue @ A |

ST UL P UgHR -1 I T Uy HT IR qa13d:
TH - INad A sRAF a2

1. $9d I

2. Bad fagar

3. had UH

4. JURYad gt

Correct Answer :-

o SWRIad gt

19) U qroft iftre w9 =1 U TR |
3R &Y e #, 3mug faa g |

oIg & o1 a9 g8 AT, s g g A A |
9 AR fire war, Sue 3@ Ardh ||

ITYe Ui &1 Ugh ) YD T U BT IR 9153
U - Siad 999 99 & Hiaw o1 g1 ariee?
1. fa=wran

2. bgdl

3. EPR

4. 3V

Correct Answer :-

20) Tt aToft ST 79 T AT W |
3R 3! Waa =, Mug Maa 8|

o9 § o1 a9 g3 ATEY, 3 g § A A |
T iframT fire wan, Sue @ urdt |

ST U= $ UgHhR A12 U 7T UY T 30 Id133:
U - e AYr A W prarf g
1. forfad

2. YpIT



3. [GHR
4. YT

Correct Answer :-

21) Tt aToft ST 79 T AT I |
3R P ftaa #v, g Haa gy |

o9 # 41 79 g A8, 3@ 58 8 H AR |
Ta RmaRT fire war, Sius @A |

ST UL P UgHR 1 I T UY HT IR qa13d:
U - AEHR BT AR B & FIT g1 82

1. ael M B UG

2. Had & DI UM

3. A SR B! UG

4. JURTad gt

Correct Answer :-

o SWRIad It

22) Tt amoft Sife 79 1 STaT W |
3N &) =faa #v, 3mug Maa g |

w19 & o7 a9 g8t e, sra g g H e |
T IR fie wan, due @ At |

ST U= $ UgHR A2 U 7T UY T 30X Ia133:

U - I T4t §1ue B & Wiar feam yariRra fear 2
1. S A

2.5

3. 9 A

4. 914

Correct Answer :-

. B

23) Tt aToft ST 79 &1 ST W |
3R B! <iaa =, MUg Maa 8|



9 § YT a9 g3 ATd, 3 g g H AR |
T AT fire wan, Siue @ Al ||

ST UL P UgHR T U Y UY HT IR qa13d:
WA - I Ut U e A R T FAT S 2

1. 8T Y B AT 5|

2. I ST B |

3. PR fire ST B

4. TR o B

Correct Answer :-
. 3{YPR e Sar gl

24) Tt qToft AT 79 BT AT T |
3R &) e #, 3mug faa g |

o9 & 41 79 8 A8, 39 58 8 H AR |
Tq SRt fire man, fiue @ ArEh ||

ST U= $ UgHR -2 U 7T UY BT 30 Ia133:

U - OIq $fd & WaR SFUBR YT a1 IHS UTH FIT g1 UT?
1. TTH A B el

2. TRI-BIf

3. HE-GHH

4. 3R PTIY

Correct Answer :-
. DPRPTIY

25) Tt aToft ST 7 T ST W |
3R P ftaa #v, g Haa gy |

o9 # 41 79 g Y, 3@ 58 8 H AR |
q RmarT fire war, Suw @ AT |

ST UL B UgHR 1 I T Uy HT IR qa13d:
W - USRI & IR, SYR B! Uity A gielt 32
1. foquara

2. UHTRI Y

3. 3EPRIABA T I

4, Us A



Correct Answer :-

. 3EHRIATATAY

26) T aToft SfQ 79 BT AT W |
3T 1 <t B, TUg Maar gy |

w19 & o7 a9 g8t e, 9@ g8 g H e |
g AT fire wan, Siue @ A ||

ST UL B UgHR 1 U Y UY HT IR qad13:
TR - <SRBT FT GIaard Weg § 2

1. dHY

2. g

3. SRET
4, ARG

Correct Answer :-

27) Ot amoft ST 79 T ST W |
3R &Y e #, 3mug faa g |

W19 & YT a9 gt AT, ora g § H g |
T ramRT fie wan, due @ ardh |

ST U= $ UgHR A2 U 7T UY T 30 I133:
W - it et die & T g 32

1. Fad wgdl fie STt g

2. $9d gWRI H G e g

3. SWRIad it

4, $9d Gg B! G et g1

Correct Answer :-

o IWiad gyt

2g8) Ut qroft Sifer w9 &1 SmuT W |
3N &) e Hv, 3mug Maa gy |

o9 § 41 79 g Y, 36 58 8 H AR |
e RaRT fire war, Sius @A |

ST UL P UgHR 1 I T UY HT IR qa13d:
WA - «3MUg 2faa e &1 3 Fr g2



1. 30 DI TN T
2. 30 I A

3. 30 &I Tifd firc
4. I P ARM Gl

Correct Answer :-

. 30 & wifa fFra

29) T aroft Sifere 9 &7 Ut W |
3 Y fiad FY, SMUg Mad & | |

W9 & o1 a9 g3 ATEY, 3| g3t § | g |
9 RERT fire o, e S At | |

Iued U= B) Ugh? 19 UD T Uy HT IR 9133
- B A ot e FY FEa § 2

1. Sfida

2. Bl

3. faay
4, Hidt

Correct Answer :-

30) fadt STl g5 SMUST HT UTTHAT T g b FRUT & TIATHR I Wl Th YHR BT STATYV] YT WY-
PR TANIPR T 8, SU B U Hgd &1 HIY W P BRI W YHIT ST P T STHd Har & i 4g
ITP UFT A 918 11 & Y| 1Y g8 & FRUI & WEUSY F a1 781 gian| afe g&@ &1 sRor aa=
TR 3R g FHST ST & I I1-gHR g Ugardn 8, a¥ft iy g1 R 49 & fog sror &1 fAfde
T SIS 18); ST WR AIH g1 d1fet fb g 1 g1 ugentt| afg s saifadt fveft far & o2 b
"hel GFETY BTY-UTd g ST df I/ Y 7 TT; W eNTl | R S A afe i TR g & "wa
IH-3HS TN F14-W A " A 98 T AN} TgadT Bl & "B § T1Y-W dAsAard? @ Fm|”

v BT fawg & Ui & Hr 31T € - 3R FU H 3R grew wu # | 3rred fawy ag § e il was
ERT ORI 3RIYT §1 a1 3HT IHS US| 91 fawy 98 8 i wae gR71 g) faran a1 Yarar o 9t g1l &t
WWW@%W%mmﬁmmaﬁm@msﬁﬁﬁWWﬁmm
Sl afe 3 Y Ioww U, FSTA 71 U5 W we 3nfe &1 waet &3 df 99 9od ¢ | favy & qrem ar

3 Te B @ Yo gRfRUfT & fadivar & SR @ 8 8 @ W 954 79 s @1 upfa wR of
A Igdl 81 FAY F BRI BT J1H g1 W 3P if~ardar 1 e sra=t faa=rar ar srerwar @5t
FYfd & PR ghaT 81 afe T SIYfa FidATsal iR Smufral Y gr S F AR T A8 & YT
& PR B! 8, df Ao TFa 8 o1 8 3R SUP g1y-uia 8] e a1 R+ o &1 a1 wrgit
3Tl Ugd ) STec! S¥dT Ael iR St ot @ ot WU B U TTd & I § & ST g1 WY o g
YT g1 ST § 99 Hravan a1 fisdar sgardr g iR Ui Sy |71 wrar 8, fava: gl § | ol &)
Wedr dt ITHT Toon F THM & DT F AR B ag 81 81 7ol P fwar 1 gt fFiar gt 1
W USdr ¢ i 9gd A oW A gul A 7 537 $T 3T A IRa1 2| Wivdr & Taieie sragal o AR W
P ATIRGDH AT 3N U fRT BT STIART YU B 1 T BT ATHAT HIA A YR HT fUura gt giar g 6
YRTHaTeT RN deT T8 98 Jdar avl et fed & gRT 39 HisT | 31Ut &M &1 fazarg =81 35|
g @ 9gd WA Ird @t v g5 1 Siad & 3R eM® sl # off Wiwar o it 21 erferf F wm



9gd & ATl Hfi-Hft fedt faiy sgamy 4 g1y =€l STerd, W €19 & 49 @ 9gd 9§ ufsd sft-wodt
T & 98 |/ B

ST TR $ UGH -1 T T ¥Y HT I<R Ja153:
UL 49 & T SR &1 391 811 =) 7Y 82
1. yds

2. Uiy
3. W
4. fAfése

Correct Answer :-

Topic:- Sanskrit (SAN)

Lfﬁml
 HiH
X $cd: |
e

Correct Answer :-

MG JRNMEAH |

ARG |



3. |
I RIS |

Correct Answer :-

3 [ S -,

" IS RS R 39 2
 Tre |

s

| A |

4.@E'_'FL|

Correct Answer :-

" 22 Weng: AR A S -
lsr%mmmql



Correct Answer :-

) . -

" SN e o A -
N r\:|

1.

 FHICAE: |

) qEUTEE: |

° qgUERIdY 3¢ A SRl -
S|

a1 |
2.

7)

AT {H ITd 997 509 A 356 1t —



. HejgdH |

2 Y 3d 24 Fid: |
y A |

4 A FISH |

Correct Answer :-

8)

QeI HUH 3
TR |

N ATHR{UTH_ |

| v

, Bed: |

Correct Answer :-



10) o~ -~ = ~ -~
TG TG FHRA H ot ?
lliﬁﬂiﬂFﬂal
Zliﬂiﬁﬁﬁl
[ ™ ™, |
3.

.
. VAT |

Correct Answer :-

11)

AT AT T29d |/ SAE arsasant: &: ?

-
B Ich
T,
AT |
N t‘r\|
fHhdlY
3.
T

X |



Correct Answer :-

1 Toghiehi |

| TR
| @ES! |
4.%uﬁi=|‘alm|

Correct Answer :-

- HRTEEH |

Correct Answer :-

@%ﬁzl



14

" g gl HETHTEEE T % 2

15) . .
TTETATTATAI: T ATEE oIt T2

1.

ATHTH
, A1

T AT A TS TS
3.

.

-
. S ENIEET

Correct Answer :-

=
SENIIEETD

16)

F: AT Afedq: qrefhe: F: ?
1.



[ [
Hold X =dH]|
3,

ECEECR

4,
Correct Answer :-

[ [
Hold X edH]|

17)
TR TS TS F: ?

RS

ZFﬂ‘ZLI

, T
.ﬂ”

4

Correct Answer :-

27 |

10

4.

Correct Answer :-



SICECEECRE

2.

. .
ITAHT Hglad:

3.

N
| EL-HEET:

Correct Answer :-

N =,
AT -Hgl=d:
20) = o [\

21)

edil- Fiwgde] -FHareT Trauriadr fafer: -



BIEETACIEE

D REEaEIPE

2.

Correct Answer :-

22

' SRR Fid A ddwd 2
7
6
e

9

4,

Correct Answer :-



, I |

Correct Answer :-

o

hdl |

24)

TOreaT WaT UERTaT T aad -

[ -
USSR

Correct Answer :-

[
NRIIRED
25) o~ . ~ = . o
SIA-T9aTSH g2 d: o] THGIa~d Jadeh: ?

. A
, A4 TcHHATIA S A A

.
, SIERIGERCED

* .
SRl IcHn g [H 4

4

Correct Answer :-

d .
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